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Managerial Economics
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Time: 3 Hours Maximum Marks: 60

Note: This paper is o$ixty (60) marks divided intdghree (03)sections. Learners
are required to attempt the questions containdldeise sections according to the
detailed instructions given therein.

Alc: Ig 9T 9T ATS (60) 37hi T § S el (03) War & fasnfeid g |
Rt 1 g7 @l A U aw fawqga =i & qan & e &
TIel AT |

SECTION - A/ &TT- &

(Long-answer - type questionsy (& 3cddiT we)

Note: Section ‘A’ contains four (04) long-answer-typeegtions of fifteen (15)
marks each.Learners are required to answer two (02) questions only.
(2*15=30)

Ale 9T 'F FH IR (04) Y 3cadiT 9T RA T E 9% T & v
Uegg 3ich uRa &, frenffal &) s & Faer gt qeat & 3eav a7 &

1. What do you mean by managerial economics? Describe the nature and scope of managerial
€Conomics.
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YerehIT 7T o FAT GHeErd 2| Tewerehiar 31eferres shl Tenfd 1T & ot
guiq IS 2

2. What do you mean by monopolistic Competition? Define the equilibrium

of a firm under monopolistic competition in short-run and long run.

TRl SREE & o GweR B uwRmR] e % s,
ITThTC TS ATelehTel # Uk B o N 7] &1 1 o i <hifery 2

3. Explain and illustrate the Law of Diminishing Marginal Utility. What are

its exceptions?
SUGIT g 199 &1 ISERY Aled ARAT DI |
I DHF—HIF I 3YdIE B°
4. Define national income. How is it measured ? What are the
difficulties in the measurement of national income ?
TS AT Sl qieTT SISTT) S8 S H7aT STTaT 82 TSI 3777 6l H19 | i
i ©f HiSATZT AT & 2
SECTION — B/ 19T @
(Short — answetype questions)/ &g el v

Note: Section ‘B’ contains eight (08) short- answer typeestions of five (05)
marks eachlLearners are required to answer four (04) guestions only. Answers
of these questions must be restricted to two huhdiiéty (250) words
approximately. (4*5=20)

AT T W H IS (08) A Swkid USRI A § uAF ueA & v
9 3 PR §, Penffat & sa# & Faa arw eIt F 3cav da &
Jcdsh U2 I 3cal &l AT JarT (250) LTsGT I 3T =Tgr gleAT AT y|

Briefly discussany four (04) of the following;

T & ¥ fegT o (04) el & 3cav 3 &
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1 What is the law of demand ?
HT BT a9 w7 87

2 Distinguish between autonomous and induced investment ?
TEaTford Ud Ui frerer § we hifsig 2

3 Explain the concept of opportunity cost ?
STTHL AT I GO 1 37 T9F w2

4 What are the main determinants of the elasticity of demand?
i T e o e T o 82

5 Distinguish between a short period and long period production function.
ST T Ereehrelia IcdTe % # 3[R TS Fifv |

6 Discuss critically the Kenyenes’ theory of employment.
el o TSR THgTd Shl SATAT=HTeHe ferereHT shifsr)

7 What is business cycle? Describe its various phases.

TR =3 71 8 2 595! faro=1 AT a7arsy |
8 UitEdRITet SO o fm o Hr=rmd srse?

Describe the assumptions of the Law of variable proportions.

SECTION — C/@g T

(Objective — typaigstions) / aFqferss wea
Note: Section ‘C’ contains ten (10) objective —type diges of one (01) mark
each All the questions of this section are compulsory.
(10*1=10)
AT T T H e (10) TS vt A TA G Tcdh I & fow vk

3 RURA & | 39 &5 & T W sfaard & /

Indicate whether the following are true or false;
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194 gfornfrar AR=MR # &1 Refa 7Y 2xft 2

Under perfect competition AR=MR does not prevail.
2 F=a] HTeT T4 9H GFTd IRad9ie Arra 2 |

Raw materials and labour costs are variable costs .
3 ot il %H AT A1 ST el ¢ |

Perfect competitive firm always gains profit.
4 3ICATEA % &1 HE "G 4H R Y18 |

The two main factors of production are Labour &Capital.

5 YFAiet ¥ SATIR =156 o el o 1 fegT= o |

Schumpeter gave the innovations theory of trade cycles.
Indicate the correct answer-option;

Iek & o we e &1 gara RS ;

6. T as i el DUlEd 2

a. JJeUcHeh
b. ferx
c. ©HTHh

d. A AT o HEurmeHen

The slope of demand curve is;
. Negative

a
b. Constant
c. Positive
d

. First positive then negative
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7. T | o o1t A § @ i i O, TRt e | fsramefier gt 22
a. TOT I 3TE &A= 0
b. TRT AT A Ara= 1
c. T ITE A <1
d. W7l 3T e > 1
Which one of the following cross elasticity of demand is operative in
monopoly market:
a. cross Elasticity of demand =0
b. cross Elasticity of demand =1
c. cross Elasticity of demand <1
d. cross Elasticity of demand >1

8. « @M ¥ T Dl frgra » T e -
a. SR
b. ST
c. 9. W
d. w.uew Ay

The “Rent Theory of Profit” is given by---

a. Prof. Waker
b. Prof. Pigu
c. Prof. Schumpeter
d. Prof. Adam Smith

9. Ueh UHITUehH] Had -] IcdTe AT YEE U STal
a. T I AT 3RS § 4 2
b. W I AT 3HTS o ST 2 |
c. T T A TS | AT 2
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d. #FT I a2

A monopolist will always prefer to produce where
a. Elasticity of demand is less than 1
b. Elasticity of demand is equal to 1
c. Elasticity of demand is greater than 1
d. Elasticity of demand is zero
10. STSIR 31 R 6 TR IS S AT AT T I[E T 318 sIai ail il
a. YIFFAE
b. AT HL T E
smem (Afeqs!) 78|

TS T 3 IUTS TET |

a o

Net National Product at market prices and Net National Product at factor costs
will be equal when there is

a. No direct tax

b. No indirect tax
c. No subsidy
d

. No indirect tax and no subsidy
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